CELPLARI02 BER

%&%@f%ﬂ%i%ﬁﬁ%

#EL% AReRs [EfratE] AR3R. 403001
' MAFABRBERL "FTR, BATER #$2EF1RA

1.

(10pts) Suppose that three investments have the same three payoffs, but the probability associated
with each payoff differs, as illustrated in the table below:

Payoff Probability Probability Probability
(Investment A) (Investment B) (Investment C)

$500 0.10 ‘ 0.30 0.40

$250 0.80 0.30 0.10

$100 0.10 0.40 0.50

a. Find the expected return of each investment. (3pts)
b. Eddie has the utility function U=5Y, where Y denotes the payoff. Which investment will he

choose? (1pts)
c. Rebecca has the utility function U=v5Y. Which investment will she choose? (3pts)
d. John has the utility function U=5Y?. Which investment will he choose? (3pts)

(5pts) Which of the following utility functions are consistent with convex mdlfference curves?
a. UX,)Y)=2X+5Y

b. UX,Y) =VXY

c. UX,Y)=Min(X,Y)

d. UX,Y) =log(X) + log(Y)

(15pts) Consider a perfectly competitive market of product x with 10,000 identical firms. Cost
structure of each firm is TC=¢*/8—9¢/4+10. There are 10,000 consumers with the same utility
function #(q,7) = log(q - r) , where q is the quantity of 'product x and r is the quantity of other
products. Each consumer has an income of 5 and faces the price p, = 0.25 and p,. = 1.

a. Find the market’s supply function of x; (8pts)
b. Find the market’s demand function for x. (7pts)

(10pts) A firm’s production function is y = min{ax,, bx,}, where y is output, and x, and x, are
factor inputs with prices w; and w, respectively. Find the firm’s cost function.

(10pts) Answer the following questions:
a. What is the meaning of the second theorem of welfare economics? (5pts)
b. Discuss its implications. (5pts) :
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